ADay 14 Review Day HW Answers.notebook September 25, 2019

Turn in Graded Homework Now
With Work Stapled to the Back.
No Partial Credit for Incomplete Work or Answers.

Oct 4-7:43 PM
164 - 166:
P Ch 1 Ditto 2:
33. even 40. neither
9. y-4=2(x-2) ory+6=2(x+3)
34. even 41. even

10. 2x+y+11=0
35. odd? 42. odd

36. neither 45. neither

37. neither 46. even #35) Textbk answer is odd, but look closely at the
) graph and it is not going through the origin.

38. neither Technically then it is Neither.

39. odd

Oct 1-8:37 AM
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Pg 164 -165: Ch 1 Ditto 2:
33. even 40. neither -4=2(x-2) ory+6=2(x+3)
34. even even 10. 2x+y+11=0
35. odd 42. odd ’
o0 ° gy (a,4) (=3,-6)
36. neither  45. neither 1*3\‘:—““"")
37. neither 46. even
38. neither m= L= == =
(39 odd ST -
Y = 20X )
o)Prty 0=0
= —2 3 (_4,{‘ =3 }
Y3 = -2 ="
+X T
Oct 1-8:37 AM

Va) Pry)= —3x Hx

O ) =3(x<T +2=)
= 3(=d3) - Ax

= 3y -

I/(_XS = —(X) ) nit ¢
D -Fo)= 3% -2X

odd

— e Y= £(—=9

e QCC)() — —-)1‘
Sdd L) = =3 )

Oct 6-7:53 AM
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Y1) L0 = Sx T 32k~ o
O J(=x) = Sl=x) =) T/

~ X2 xy~L jul w

Ll

Oct 6-7:55 AM

polntsiope O e-morrow

evaluating} f(x) with regular and piecewise

compositio
domain algebraically & from graph Piecewise Functions
range DQ!
. Pascals Triangle&an do binomial
Increasing

expansions manually)
Decreasin Make a sketch!!!

Max

Min mcldec — )(—Va\UGS I
in Mo — yrVolue@xX=—

Oct 1-1:03 PM
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TEST Tomorrow

\ ‘\k I\H ey i :-':.f i ! P A
o . 3 - 4 %= ! (T

Oct 5-5:23 PM

|. RelMax —L8l@ x=-133
RelMin -3@ ¥=0
Decreasng  133,0)
Increasing (-o2-133), (0,%)

2. 2x W -3&x<m| ot
fix)= 9 ¥ -1£X<3
xel # X23

Oct 1-8:45 AM



ADay 14 Review Day HW Answers.notebook September 25, 2019

[Review PreCalculus:
A graph of the tunction 12 shown tind each:

a) f(2) 3
by f{-3) 7

5 Find the domain for each:

VI En s 9 S o

X —6x+35
{x|x¢—%} {x|x>3} {x|x¢5,1}

Oct 4-2:45 PM

Include Tables|

‘l § Graph the piecewige function on graph paper and find each below:
= for s | /ry
Flz)="]|x| for f=x=z2

Jx-1 forx=2

DfW_ L 1
HFo)_ 0 I
f@_B3

Oct 4-2:46 PM
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3‘, Given f{x)= x%—x—3 find each:
b.fa1) = (@-1)*~(@-1)-3
= R*-20-+1-0+ -3
=a’ -3a-1

C. Difference Quotient 2x+h-1

Xth) = (x+h) == (X+h) - 3
§ l;&)z x22xhtht=X-h=3 - X'HX+3

h
L,DQ z ZXh+h1‘h
b

D= 2xth~|

Oct 4-2:46 PM

. Find the equation ot a line contaming the point (1.-1) and perpendicular to the

line 2x+3y=4 m standard form
—"'}K-*% (‘J“) F(X- ’3/ 3x-2y-5=0
J="sX3, 2i+2 =3x-3
 Write the eqlntmn of tln:?me

point (-2,-1) +| = 3{)("'2

U+I=3)(+l, W y=3x+5

.Write the equation of line that passes through the points (4.1) and (-2,-1) i point slope
ormy 4 | |

m= 4L:2"§‘\» y+1=1/3(x+2) or y-1=1/3(x-4)

(0 Line throgh (5.-2) ¢(-3,). Standard form.

m= L 3x+ Yy-1=0

)t R

Yysg=3xsls tyHo= 34

31 glope intercept torm with m=3 and passes through

Oct 4-2:46 PM
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“Show algebraically whether the function is even odd or neither: hint (do £{-x) )
a) fix) =9 — x* 2 b) flx)=x"+2x+1
£x)=9-(¥) 1) = () *+2(-x)+ |
£L%)=9-X )= X2-2x+
Same = even Neither
Oct 4-2:47 PM

12.Given fix)= ig and g(x F=-3Kind each below:
X

a(f+ex = K)rglx) b) (?)x = ﬂl‘)) ¢)(fog)x

o 9t _4“
S &X-;i:(_&.’i - % xz -r(ﬁ(’»'(z_ax)z

Xk D @3 u

" 4-lx+qy®

4 L OX-|X+
2-3)(3 ) K*O, 3 X*%

Oct 4-2:47 PM
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EXTRA & OPTIONAL REVIEW

pp. 170 - 173

12) Not a function {x |x= 3,5,7} {y |y= 1’3’5’7} 14) Not a function 17) Function

18) f(2)=-1 f(-3)=-1 f(0)=-1  20)f(x) = 3/x + 2, x%0 21)f(x)=2;,x¢5,1
x°—6x+5

23)f(x)=V16—x"{x|4<x<4}{y|0<y<4}

27)a)-3 b)9 c)a®-3a-1 d) 2x+h-137) 3x-y+5=038) y=1/3x-1/3

43) y=3/2x-5/2 47) graph
2% +3x*+4 2% —3x*+4
57y b) (f+g)(x):x—2,x¢0 (f—g)(x):T,xio
12— 8x 4
(fg)x)=—F—,x20 (f/gXx)=5—=-x%0,3/2
x 3x° —2x
Oct 4-11:55 AM
4 3x2 -8
61) b) (f o g)(x)= ,x#3/2 (gofNx)=—=—,x#0
3-2x X

71)Even 73) Odd 75) Even 76) Neither 77) Odd

81) f(x)= (x +3)2 82) f(x)= —Jx—3+4 83) f(x)=2[x- 3|

84) Decreasing x<-3,x>0 Increasing -3<x<0

or

84) Decreasing@®<x <-3, 0 <x <eo#® Increasing -3 <x<0

Oct 4-12:14 PM



ADay 14 Review Day HW Answers.notebook September 25, 2019

Sep 26-8:52 PM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

